Solution du Super Sudoku n’ 168

Q> [~|xjulola|D|2|<|>| 0| ||| —|X|Z|T|0|Z|0|n ]|+
|l [ZS|Oo|>IX|>|T|a|z]<|F|O|O|Z|o|u|w|alx]x|—]|~|D|a
OZ|T[—|HIZ|O|X|(x|O|un ||~ |a|(Z]a|>|D]|o|<|>|X|w|a|w
Y| OD|w|S|u|- (o> (Z]|—|o[X]|Oo|lx|>|alolZ|=|(<|n|T
X|<|a|Olm]Oo|>—(w|Z2(T|x|alwjZ|2|un]|-|-]>|Clo|=|x
S|lH|lol<]|olT|alo|x | D)2~ X|—|O>-|n|a|2|Zzju|w]|>|o|x
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mjafw|>[X]2|n|~|(Oo|>u|o|al-|x]|D|= 2] —-|x]lT|<|(Z|0|C
Six|u|{n|olo|<|wu(=|-]o|a|2|X|alz|+|x|>|o]o>[Dz]-
w|is|z|2|al-[X|x|oln]—|>|2(w|[>Ix|o|lo|<|~|a|o|Z]|T|x
Ola|lx|—[=>|0lo|>|2]x|Z|u|(Z|Z|a|2|—|rn|Djw|o|a]|X]|<
oo X[a]lz|D|2(T|a]l~|(o|<|O|n]o|>|Z|u|u-|x|[—|x|~
<[—[>|D]|TIX|O|a|~|r]olo|ZS|x|(—]2|o|Z|a|X]|=|>|n|C|w
Hlwla|lo|<]Oo|x|2|D|X]|a|(Z|un|>[Z]Z|w]|Z|o|—]-|a|X]|>|0
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Zlx|X|»|x]|Z|T|>-|o|w]=S|—|a|<|[Olun|O|<2|D|>]0|+|w|a|a
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~(>|<<|a|O]—|=2|X|H|ZS|o(x|IZ|Z(D]u|a|o|w|[>]Z|x|O|O0|wn
alu|-|lo[>-lelx|aln|olx|>|z|lwul~]-|o|a|o|Z]|=|x|(=|<|D
x|o(o|wlZ]>- || > (ool [(<]|O|ln|—|a|D|~|T|Z|X|0o|(X|wL|O
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